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Instructions

For each pair of grids, fill
cells with either 0, 2, or 5,
with each bordered region
containing the same digit
in each cell, so that the
numbers outside the grid
correctly display the sum
of the digits in that
position’s line of sight.

Each pair of grids contain
the same numbers in the
same positions, but with
the mirrors oriented in
different directions in each
grid.

An example of line of sight
with mirrors is shown
below:

The given positions on the
top right and bottom left
show a sum of 9 because
the mirror reflects the line
of sight.
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